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The total carbon footprint (CO2 emission in the last 12 months, in 

metric tons) 

CO2 (electricity)  

 
                                

    
        

=(7559973 kW/1000)*0.84 
=6,350.43 metric tons 
 
CO2 (bus)  
 

                                                                                                                                                                     

   
       

=((20*2*2 km*240)/100)*0.01 
=(19200/100)*0.01 
=1,92 metric tons 
 
CO2 (cars) 

 
                                                                                                                          

   
       

=((250*2*2 km*240)/100)*0.02 
=(240000/100)*0.02 
=48 metric tons 
 
CO2 (motorcycle) 

 
                                                                                                                                

   
       

=((10*2*2 km*240)/100)*0.01 
=(9600/100)*0.01 
=0,96 metric tons 
 
CO2 (total)   

= 6,350.43+ 1,92  + 48 + 0,96  
= 6,398.43 metric tons 

 
Carbon footprint in 2022 = 6,398.43 metric tons 

 

 

 

 

 


